N1 - Nawiewny

Nazwa: N1
Typ: Nawiewny
Opis: nawiew

Sys.| Nr Szt. Typ Nazwa Wymiary Materialf Producent ~ Uwagi
Nawiewnik IBIS 204Q . _ _
N1| 1 3 IBIS 3000-6-1\ D= 204 L= 300 stal | SWEGON
Nawiewnik IBIS 200 ~ _ _
N1|[1A| 3 IBIS 3000-4-1\ D= 200 L= 300 stal | SWEGON
Nawiewnik IBIS 200 ~ _ _
N1|1B 1 IBIS 1500-6-1\ D= 200 L= 300 stal | SWEGON
N1|[ 2 6 MFA Zigczka mufowa | d1= 2(d0 ocynk [ Ogélne
N1| 3 10 BGE Kolano prasowang alfa= PO r= |1 dl1= 200 ocynk [ Ogélne
N1| 4 6 TUBE* Przewdd okgly | d1 = 20Q 11 = 50( ocynk [ Ogélne
N 5| 7 IRIS Przeplusltg'ca WPUl 41 = 204 ocynk | Ogolne
N1|[ 6 1 TUBE* Przewdd okglty | d1= 20Q 11 = 75( ocynk [ Ogélne
N1| 7 1 TUBE* Przewdd okgly | d1 = 20Q 11 = 115¢ ocynk [ Ogélne
N1| 8 1 TUBE* Przewdd okgly | d1 = 20Q 11 = 363 ocynk [ Ogélne
N1|[ 9 1 TUBE* Przewdd okggly | d1 = 204 11 = 200D ocynk [ Ogélne
N1 | 10 1 TUBE* Przewdd olggty | d1 = 20Q 11 = 80§ ocynk [ Ogélne
Symetryczne
N1 |11 1 RS przejcie a= 20Q b= 31% d= 200 g= 4p I= 315 ocynpk  Ogélne
koto/prostolst
N1|12| 4 TR2* Trojnikprosty z | o 500 p= 31§ d= 20p 1= 4do e= 400 f= 100 ocyhk  Ogodlne
okraglym odegcien
N1| 13 5 K Przewod prostakny| a= 200 b= 31% 1= 1500 ocynk | Ogdlne
N1| 14 1 K Przewod prostakny| a= 200 b= 31% 1= 20p ocynk | Ogdlne
N1 |15 1 K Przewod prostakny| a= 200 b= 31% 1= 14p ocynk | Ogdlne
N1 | 16 4 BS tuk symetryczny| alfa= 90 a= 2P0 b= 315 e= [50 f&|rb= 100 ocynk| Ogolne
N1 |17 1 K Przewod prostakny| a= 200 b= 31% 1= 771 ocynk | Ogdlne
NL|18] 2 ES Odsadzka a= 200 b= 313 e= 460 I= 10p0 ocynk | Ogélne
symetryczn
N1| 19| 2 RFC* Prostolatny krociec) o _ 09 b= 319 1= 200 ocynk | Ogélne
elastyczn
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N1 - Nawiewny

Sys.| Nr Szt. Typ Nazwa Wymiary Materialf Producent ~ Uwagi
N1 | 20 1 TUBE* Przewdd olggty | d1 = 20Q 11 = 38( ocynk [ Ogélne
N1 |21 1 TUBE* Przewdd olggty | d1 = 20Q 11 = 115D ocynk [ Ogélne
N1 [ 22 1 TUBE* Przewdd olggty | d1 = 20Q 11 = 755 ocynk [ Ogélne
N1 [ 23 1 TUBE* Przewdd olggty | d1 = 20Q 11 = 153D ocynk [ Ogélne
N1 | 24 1 TUBE* Przewdd olggty | d1 = 20Q 11 = 82( ocynk [ Ogoélne
N1 | 25 1 TUBE* Przewdd olggty | d1 = 20Q 11 = 44( ocynk [ Ogoélne
N1 | 26 1 TUBE* Przewdd olggty | d1 = 20Q 11 = 844 ocynk [ Ogoélne
N1 [ 27 1 TUBE* Przewdd olggty | d1 = 20Q 11 = 52( ocynk [ Ogélne
N1 [ 29 1 TUBE* Przewdd olggty | d1= 20Q 11 = 121D ocynk [ Ogoélne
Ni|30l 1 RD1* Przepustnica | . _ 500 p= 313 1= 200 ocynk | Ogoélne
prostoltne
N1 | 31 1 K Przewdd prostakny| a= 200 b= 31% I= 60D ocynk [ Ogélne
N1 [ 32 1 K Przewdd prostakny] a= 200 b= 31% I= 70B ocynk [ Ogélne
N1 [ 33 1 K Przewdd prostakny] a= 200 b= 31% I= 124 ocynk [ Ogélne
N1 | 34 1 TR3* Troéjnik ortowy a= 20D b= 31p d= 200 h= 2p0 r90L ocynk | Ogélne
Symetryczne
N1 [ 35 2 RS przejcie a= 20Q b= 200 d= 200 g= 4p I= 200 ocynpk  Ogélne
koto/prostolst

N1| 36 2 TUBE* Przewod olggly | d1 = 20Q 11 = 30( ocynk | Ogolne
N1 | 37 1 TUBE* Przewod olggly | d1 = 20Q 11 = 83( ocynk | Ogolne
N1 | 38 1 TUBE* Przewod olggly | d1 = 20Q 11 = 82( ocynk | Ogolne
N1 | 39 1 TUBE* Przewod olggly | d1 = 20Q 11 = 834 ocynk | Ogolne
N1 [40A 6 BGE Kolano prasowang¢ alfa= 12 r= |1 dl1= 200 ocynk | Ogolne
N1 | 40 1 TUBE* Przewod olggly | d1 = 20Q 11 = 80( ocynk | Ogolne
N1 |41 1 OC1* Odsadzka okgta | d1= 200 e= 640 1= 100 ocynk | Ogdlne
N1 | 42 1 K Przewod prostakny| a= 200 b= 31% 1= 30D ocynk | Ogdlne
N1 | 43 1 K Przewod prostakny| a= 200 b= 31% 1= 58] ocynk | Ogdlne
N1 | 45 1 K Przewod prostakny| a= 200 b= 31% 1= 23b ocynk | Ogdlne
N1 9 MF1* Ztagczka nyplowa | d1 = 200 ocynk Ogélne
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